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QUESTION 1

While analyzing an application, you observe that it contains numerous Interfaces for complex domain logic. Completing
a business Function currently requires calling several of these interfaces in an order that is understood by system
experts.

Which design pattern would you suggest to refactor the code?

A.MVC

B. DAO

C. Adapter

D. Decorator

Correct Answer: A

QUESTION 2

Your web page design company is designing websites for all the stores in a local mall. Your company must create a
consistent "look and fool" for these sites.

After this "look and feel- project has gone through demonstration, enhancement and approval iterations with the mall\\'s
Jions, you job is complete and the development of the actual B2C (Business to-Client) system will be handled by a
different firm

Which architecture is most appropriate for your prototype project?

A. Two tier, web-centric

B. Three, web-centric

C. Three-tier, enterprise-centric

D. Three-tier, application-centric

Correct Answer: A

QUESTION 3

Which two use cases are best suited to the RPC style of messaging using Simple Object Access Protocol (SOAP)?
100% Real QandAs | 100% Real Pass

A. Processing large sized communication messages

B. Implementing line grained services

C. Validating custom data types
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D. Implementing asynchronous web services
E. Executing long running multi-part processes

Correct Answer: BC

QUESTION 4

What are two consequences of using the Composite View pattern?
A. Improves performance

B. Avoids duplicate content

C. Forces a whole-part dependency

D. Allows tables to be reused in multiple locations

E. Restricts all sub views to have a consistent view technology

Correct Answer: BD

QUESTION 5
Which two statements are true about the timer service of a business component container?
A. Timed notifications for all types of session beans can be scheduled by using this service.

B. When the server is shut down, the timer is persisted automatically and becomes active again when the server is
restarted.

C. Each instance of message driven beans has unique timers.

D. When stateful session bean instance is removed, the container detaches the timers associated with the instance and
allocates them to the new instance.

E. When a transaction is rolled hark, the timer creation within the transaction is also rolled back.

Correct Answer: BE
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